Excluding Values from the Domain of (f = g)(x) = flg(x))
The [ollowing values musl be excluded [rom the inpul x:
* 1l x is nol in the domain of g, il musl nol be in the domain of f = g.
= Any x [or which g(x) is nol in the domain ol § must nol be in the domain of

f-z

( EXAMPLE 5 ) Forming a Composite Function and Finding
Its Domain

Given f(x) = — and g{x) = % find cach of the [ollowing:
a (f = g)ix) b. lhe domainol f = g

Solution 5
a. Because (f o g)(x) means f(g(x)), we musl replace x in f(x) = P

wilh g{ x).
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Thus. (f = g)(x) = 3

b. We determine values Lo exclude from the domain of (f = g)(x) in wo sleps.
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Rules for Excluding Mumbers from Applying the Rules to

the Domain of (f « glix) = figlx)) Jix) = rf 1 and gix) =

=

3o ;
If x is not in the domain of g, it must not | Because g(x) = o 0 s notin the

be in the domain of = g.
in the domain of /= domain of g. Thus, () must be excluded

from the domain of = g.

Because f(p(x)) = L wi musl

Any x [or which g{x) is nol in the
domain of f must nol be in the
domain of f = g.

glx) =1
exclude [rom the domain of f ¢ gany x
for which g{x) = 1.

LN 1 Setg(x) equal to 1.
X

3 =x Multlply both sldes by x.

3 must be excluded from the domain ol f » g.
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We sce thal ) and 3 musl be excluded [rom the domain of f = g. The domain
ol f= gis
(—oo, 0) U0, 3) U (3, o). L



